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T =072

. MEE wWage educ marrwe marrnotwe notmarrwe

Source 55 df M5 Number of obs = 526
F(4, 521) - 36.21

Model 1557.61913 4  389.484783 Prob > F = B, eaaa
Residual 5682.79516 521 1@.7539254 R-squared = B.2175
Adj R-squared = @.2115

Total 716@.41429 525 13.63858544 Root MSE = 3.2793
wage | Coefficient 5td. err. t P>t [95% conf. interwal]

educ .5218957 8518182 1@.86 B.eee 4192974 . B228941
marrwe 2.718211 .3287133 5.22 B.eee 1.695256 3.741167
marrnotwe 1.29973 3227394 4,83 B.eee . BE56EE9 1.933853
notmarrwe 8226834 3952741 . a4 B.97a -1.146749 1.192116
_cons -1.582822 6852682 -2.31 B.821 -2.929a51 -.2365938
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reg wage educ married west marrwe

Source 55 df MS Mumber of obs = 526
F(4, 521) = 36.21
Model 1557.61913 4  389.484783 Prob > F = a.aaaa
Residual 5682.79516 521 18.7539254 R-squared = @8.2175
Adj R-squared = @.2115
Total 716@.41429 525 13.6333844 Root MSE = 3.2793
wage | Coefficient 5td. err. t P>t [95% conf. interwval]
educ .2218957 .8518182 18.86 B. g 4192974 .B6228941
married 1.29973 .3227894 4.83 B, eaa . BE56BE9 1.933858
west .B226834 .5952741 @.84 8,978 -1.1467459 1.192116
marrwe 1.395798 . 7753837 1.88 B.av2 -.1274644 2.919861
_cons -1.582822 .6852682 -2.31 B.e2l -2.929851 -.2365938
reg wage educ i.married##i.west
Source 55 df MS Mumber of obs = 526
F(4, 521) = 36.21
Model 1557.61913 4 389.484783 Prob > F = . egaa
Residual 5682.79516 521 18.7539254 R-squared = @.2175
Adj R-squared = @.2115
Total 716@.41429 525 13.6333844 Root MSE = 3.2793
wage | Coefficient 5td. err. t P> |t [95% conf. interwval]
educ .2218957 .8518182 18.86 B. g 4192974 .B6228941
l.married 1.29973 .3227894 4.83 B, eaa . BE56BE9 1.933858
l.west .B226834 .5952741 @.84 a.978 -1.146749 1.192116
married#west
11 1.395798 . 7753837 1.8@ B.872 -. 1274644 2.919861
_cons -1.582822 .6852682 -2.31 B.e2l -2.929851 -.2365938
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